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8.3 Skill Practice

1.
2.

12.

13.

14.

© © ® N & W

. (=3,0),x=0andx = —+

horizontal asymptote

To find the x-intercepts, find the
real zeros of the numerator p(x),
to find the vertical asymptotes,
find the real zeros of the
denominator g(x).

C 4. A

B 6. A
none, x = *1

(—1,0), none

none,x = Sand x = —3

. (12,0)and (—5,0),x = —3

3
5
(—5, O) and (4, 0), none

The vertical asymptote occurs at
the zeros of the denominator not
the numerator; the vertical
asymptotes occur at the zeros of
the denominator x> — 8x + 7.
So, the vertical asymptotes are at
x=T7andx = 1.
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Sample answer: y = 6x" + 5S¢ — 1
P Y 2x2 —3x + 2
dy = 3x3 —7
and y x+5
0<y<75

all real numbers except 0 <y <3

all real numbers except
—4.791 <y < —=0.209

2,1 29. 12,2 30. —6,—3

Algebra 2
Answer Transparencies for Checking Homework ~ A15



Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

Answers for 8.3 .ines
For use with pages 568-572

8.3 Problem Solving 34. a.
n
31.a. [ = &2 450 //"
wr T 400 y
[]
b. §=2m2+ 22 ) 350 /
r 85 300 Y4
® = 250
c. r=25151t £ = 5.032ft % 5 /
w e 200 /'
16V3 £% 150 g
32.a. h = 2y & 100 _
50
b. s = 2201 ft, h = 1.907 ft 0

0123456 789!

33. a. Depth | Mean Temp Years since 1993
(rm) (C°)
b. Sample answer: As the year
1000 4.763 increases, the number of
1050 4.580 shares sold increases.
1100 4.409 c. 1995
1150 4.251
35. a.
1200 4.104 g
oG 12
1250 3.967 3% 4
1300 3.839 $< 8
S5 6
b. § 5 4
o T 2 e 2
S 24 0
v 0 4000 8000 12000 16000 7
© 16 \ Altitude above sea level (m)
s \
£ 12 N\ b. about 9.78 m/sec?
‘: 8 \\\
é 4 — c. about 9.47 m/sec?
0 400 800 1200 1600 ¢ d. Sample answer: g decreases,
Depth (m)

but at a very small rate.
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36.a. h = 1
2177_00—7’2—21”—1)
b. = ar 1
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Radius (ft)

r=27T41t h=275ft

8.3 Mixed Review

37. (x — 8)(x + 8)

38. (x — 12)(x + 4)

39. (9x + 4)2x — 5)

40. 3(4x + 3)(x — 2)

41. not factorable

42. 5(x + 2)(x* — 2x + 4)
43. (x — 4)(x> + 8)

44. x(x + 7)(x — 5)

a5. x(x?> — 12)(x% + 3)

46.

47.

48.

49.

50.

51.

52.

53.

3

x—3; quotient of powers property,
Y

negative exponent property

8y :

—, quotient of powers property,
X

negative exponent property
2

X .
=, quotient of powers property,
Y

power of a quotient property
3

Y :
@; negative exponent property,

power of a quotient property,

quotient of powers property

b .

;; negative exponent property,
X

quotient of powers property

x*8; quotient of powers property,
negative exponent property, power
of a quotient property

25x%y2; quotient of powers
property, power of a quotient
property, negative exponent

property
3

y—3; quotient of powers property,
X

power of a quotient property
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8.1-8.3 Mixed Review of
Problem Solving

_ 0.6p + 200
P

1. a. ¢

4

¢
35
30
25
20

15
10 \‘\
S~

5 —

/————V

Average cost (dollars)

0
0 10 20 30 40 50 60 70 80 90 P
Number of photos

22 photos

c. It decreases.

2. o = 1683
mr
b. S=2mr*+ 3326

c. r=642cm, h= 12.8 cm

3. Yes; the product of xy is close to
4000 for each set of data points.

2x% + 1
4. Sample answer: y = X

x2—5x+6
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b. 1.5 m, about 20.9, 42.75 kg

c. Sample answer: The body
mass index of the taller person
is about 17% less.

7. about 0.044 watts/m?;

4

PEOROOOOORIO
CERELEELEIEIEIO

PEOEHOBEOEIO| -
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Algebra 2
Answer Transparencies for Checking Homework ~ A18



Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

Answers for 8.3 .ines
For use with pages 568-572
8. a. $1200

b. $500; there is a horizontal
asymptote at 500.
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